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In[1]:= P1

T
Out[1]= ﬂ_
no]= N[Pi, 10] )i

outlg)= 3.141592654  HMEF10#HT]

In[5]:= Precision[P1i] j_

Qb = RXOWE
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In[11]:= Round[10000 Pi]

Out[11]= 31416

In[12]:= Floor [ 10000 Pi]

Out[12]= 31415

In[14]:= Ceiling[10000 Pi]

Out[14]= 31416

IN[17]:= Chop[ 10000 Pi]
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Ou[17]= 10000 IREDLIVRKRIA
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=AE% Sin, Cos, Tan
=A% ArcSin, ArcCos, ArcTan
%1 28 B 2% Log

RIS Exp

8 xT B Abs
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1. ERBOESE
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2. BXRBODEIBEESDD
Re[EE£X] , Im[kE 24
3. FEXMEELIRA  Abs[EEZR], Arg[RE 24
4. BEBADEHR
ComplexExpand[ & £4]
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In[23:= z= 4+ 31T %E%@iﬂzd)i%

Out[23]= 4+ 31

]
n25)= {Re[z], Im[z]} )i
]

Qut[25]= {4, 3}
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In[26]:= {Abs[z] , Arg[z]}
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OUt[26]= {5, ArcTan { % ] }
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1. ZIEXDEE D
Factor[=(]
2. ZIHAFEERADER
Expand[ZX]
3. FfEIEZFEDSD
Collect[T]
4, BEDEHDARZTEZDZREHMIALDIER
CoefficientList[T,, Z 4]
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In[34]= eq= Expand[(a + a*2x + x*2) *3]
Qut[34]= 2Pr3a'x+3atxtidat ki 6at xC+atx+

3ax4+3a4x4+3a22§5+x6

In[35]:= Collect[eq, X]
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Qut[35]= 2de3atx+ (3a2+3a5) X"+ (6a3+a ) x> 4
6

(3a+3a4) T+ 3a’x” +x

In[39]:= Coefficientlist[eq, a]

Qut[39]= {X.G, 3:{'4, 3x2+3x5, 1+6§{3, 3x+3x4, 3x2, x3}




1. BT~ DER
Apart[Z(]

2. BHRISNTE=EDZEFEDD
Together[Z]

3. FEOHF-AZ=RERSE (BIE)
Simplify[ZX]
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In40]= eq= 1/ (x*3-1)

Out[40]=
14 x3
IN41]:= Apart[eq]
1 -7 -X
Out[41]= T
3(-1+x)  3(l+x+x9

IN42]:= Together[3]
1

(-1 +x) (1 +x+x

Qut[42]=
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 Solve[Z=X , T A]

>ZERDBETRODILE, AREADETKRDS.
>ERLUEDZIEXDEEII—EITKESLEL.

>;0%)t-‘é(i, LI MNSolveZz FAWLNTIH UL AEZE K

MR ZFAHH A
* NSolve[ZX , T 4]



Solve[x"3-19x+30==0,x]
WK
{{x 2 -5}, {x =2 2}, {x 2 3}}
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Solve[x*4+x"3+14x"2+8==0,X]
NSolve[x*4+x"3+14x"2+8==0,X]
WK

x = —0523121 + 3.63044
x = —052312]1 - 3.63044 i
x & 0.0231209 - 0.7707761
x = 0.0231209 + 0.7707761
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1. 8D T 57%H<.

— Plotav KRG EH

ILNTT 7% <

2. JS57FXVEHDUNHHEZRS.
— J378EDR R IEDEZEHEIES.

3. FindRoota <> K#
HERETFS.

JLVT, Newton;EIZTLY

FindRoot[=X , (£ &4 , T D #HAE)]
o INERFRIZKYUELEZFS.
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ATYT1)T57%H<.

Plot[x/3-Sin[1+x],{x,-5,5}]

ATYIT2)EDH=YEDITS. L f

32T BHAHEN LS.

/ BN

AT 7 3)FindRootZ{F>.

FindRoot[ x/3-Sin[1+x]==0, {x,2}]
{x-> 1.58497}
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yl _ X120 _1

y, = x20 _ 10
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2. EEMBEIZHEITLIRM T EF DX ERD
_td)%b\()tf&é;&Eﬁfznm\bf&éb\ (—./
k : Simplify)
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6. ROKBAERADRERHLESL.

1) x*+x*-86x—240=0

(2) x*—9x®—-35x"+225x+250=0

(3) x°>—12x*+8x°+106x"+135x+50=0
(4) 3-2In(x)=0

7. REOUHEWNT, ROoNT=FELSN D2/ %%
VA AY
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8. RDRHMAEDNDAEZEKROHIELN.

1) x°+8x°+3x+5=0
(2) 3xX*'+x°+x°+5=0

9. RORMAEKXDERBODEHET 57K

gﬁﬁéﬁb, EMEFTLDOEZITDHEEROL
LY.

(1) x = —e*+ 5

(2) x =e*+5




